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Acircle C has centre (—2, 3) and passes through the point P(6,~3). a) N 2,
pe-a)? v (y-b) =
(a) Find an equation for the circle C.
4] N 2
r?_: (xfx\) + (j?’j')
(b) Find an equation for the tangent to the circle at P.
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Acircle C has centre (—2, 3) and passes through the point P(6,~3).

(a) Find an equation for the circle C.

(b) Find an equation for the tangent to the circle at P.
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‘The points A(~3,6), B(S,~4) and C(6,5) lie on a circle.

(a) Show that ZACB = 90°.

(b) Deduce a geometrical property of the line segment AB.

() Hence find the equation of the circle.
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The points A(—3,6), B(5,—4) and C(6,5) lie on a circle, b)

(a) Show that ZACB = 90°.

" AB 1S THE HYPoTENUSE oF A

(b) Deduce a geometrical property of the line segment AB.

RLGHT ANGLEY) TRIANGLE TH VS
A [” USING ANGLE 1 B SEMICIRCLE
FQOPEETV, BB MUST BETHE
DIBMETER oF THE CIRCLE

(¢) Hence find the equation of the circle.
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The points A(~3,6), B(S5, ~4) and C(6,5) lie on a circle. c) (DC’ ) 2 4{3-\»2 =7 (a, ) cevee

(a) Show that £ACE = 90°. v = RB0IUS
| MIDPoINT AB = CENTRE
(b) Deduce a geometrical property of the line segment AB. ~3+5 b ’L"> = (\ f \>
22 T —
2 z
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() Hence find the equation of the circle.
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Triangle ABC has vertices A(—8, 1), B(12,16) and C(12,1). A circle with equation a:) ElTHeR USE
(¥ =7)*+ (y = 6)* = 25 touches Triangle ABC at the three points P, @ and R, as shown
in the diagram below:
cewtee (a,b) RAo(vS
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() Write down the coordinates of points R and ¢.
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b) Find the coordinates of point P. ) - 1: = —6)°%- — :6
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Triangle ABC has vertices A(—8, 1), B(12,16) and C(12,1). A circle with equation

@(x —7)%+ (y — 6)* = 25 touches Triangle ABC at the three points P, Q and R, as shown

in the diagram below:

5(12.16)

0

o

() Write down the coordinates of points R and ¢.

(b) Find the coordinates of point P.
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Acircle has equation x? + y? + 14x — 6y = —41. SuB '3-_W|>C+VL.— W7o Cc1RCLe EQUATION

The lines I, and [, are both tangents to the circle, and they intersect at the point (0, 14). e+ (WDC , ”(,)7, Pl - é) (W\x +)L> = L*,[
" xl+m79c7+2&7w\:<+|”‘b\‘|lp(-6wzx>91+ﬂ+l:0
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Find the equations of {; and Ly, giving your answers in the form y = mx +c.

Fsave myexams

Ly stem

—ulé =0
RoTH InvERSECT AT (C14) =l " _[29m?> tblbw L ;
1
erY)DC+lbr M= L M=o

SVB INTOo Yzmae il

L' - j:-‘g—x-olq. L, = j:b-xallf

le





image1.png
The points A(-3,1) - tw
! , 1) and B(3,~7) are the ipoil
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(a) Show that x? + y2 + 5x — 2y — 5 = 0 can be written in the form Q) CoMPLETING- TME SQUHARE

, where a, b and 7 are constants to be found.

121 ot Saqkjl-—2j -S=0
(b) Hence write down the centre and radius of the circle with equation
X4yl +5x—2y—5=0. s V¥ as 4 1_\ s =0
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() Show that x? + 2 + 5x — 2y — 5 = 0 can be written in the form
(x = a)? + (y = b)? = r%, where a, b and r are constants to be found.

(b) Hence write down the centre and radius of the circle with equation
x4+y*45x—2y—5=0.
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The line y + 2x = 11 meets the circle with equation x? + y2 + 6x — 14y = —38. i) Reneeance © j =25+ \\
(i) Show that the line and circle meet at one point only. Sug INTO @
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The line x + 5y Se-oi
= 0 intersects the circle x + y? + 4x + 8y®—5 = 0 at the
= epointsA - §
o 1wre ©

and B. Find the coordinates of A and B.
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